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On the axis below, sketch a graph of /(x) that
— s continuous for 0 <x <5 and 5 <x <9 and is discontinuous when x =5

~ is concave down (/"(x) < 0) for 0 <x <5
— has f'x) =0 at 3.8)

~ has lim f(x)=6
b=y
~ is not differentiable at (7,3).
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‘From the graph of = 7(x) state:

@  fim f(0)

®  fm 76

(©)  the value(s) of x when y = f(x) is not differentiable.
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@ () x=0, l<x<3
@) x<-2, 0<x<l
(@) 2<x<l
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@ |a=-2anda=6

®)) |r<-2andx=7
®)i) |x>6

(®)ii) | x=0andx=3
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One possible solution
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6(a) |1
6(b) |0
6(c) | Not differentiable when x=-2,0.
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“The graph below shows the function v = (1), where v is the velocity, in metres per second, of
a partcle moving in a stright line at time ¢ seconds.

() For the function v = f(t) above, ind all the value(s) of ¢ for which /(s is not
differentiable.

(i) For the function v = (1) above, find all the times that meet the following conditions:
(1) the acceleraion of the paricl i zero

(@) the partile s not moving

(3) the partile is decelerating.

(i) Use the graph o i lig /)
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‘The graph below shows the function y = /(x).
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For the function f(x) above:

(i) Whatis the value of lim /(x)?
State clearly if the value does not exist.

(i) Find all the value(s) of x that meet the following conditions:
o fe=0
@ re>=0
@) f"w=0

(i) Find all the value(s) of x where /(x) is continuous but not differentiable.
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“The graph below defines the function = (x)
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() For the function /() sbove, what x value has both /(x) = 0 and /1) = 02

(i) For the function /() sbove, find all the value(s) of x that meet the following conditions:
(1) /) is not continuous.

() /) is continuous but not differentable.

@ rw=0

(il For the function /() sbove, find the value(s) of a where lim f(x) docs not exist.
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“The graph above defines the function = (x).

() For the function f(x) sbove, find all the values of a where lim /(x) does not exist.

() For the function f(x) above, lst all the x vlues that meet the following conditions.

O ro=o

@ f1>0

(i) fx)is continuous but not differentiable.





